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800 = 0.83m*?
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(m? 71&)
ES = B
0.233 (c)
2o kg 0.462 (a) 0.444 (d)
el kg 0.211 (b) 0.400 (e)
XL ZH(A) | ka 0.061 0.107
T
HE2 kg 0.01132 0.0226
M At kg 0.00044 0.00088
SA kg 0.00040 0.00080
a3, kg 0.0035 0.0035
LK 2RI cm? 0.01433 0.01433
HE A ka 0.0018 0.0021
PPYHE kg 0.0015 0.0021
7|E}
HE L 0.0239 0.0268
= kwh 0.0422 0.0539
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3. gloj B FHRY] =82 SW = 10091, DW
= 100/90%.

4 Z(R)ES AF=16, BF=14, CF=15 EF=12
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5. 3 AT
SW = KA210 X SI20(AF) X KA210
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(@) 0.210 ke/m? X 28] X 100/91 = 0.462 kg/m>

(b) 0.120 kg/m?* X 1.6(AF) X 100/91 =
0.211kg/m?

DW = KA210 X S120(BF) X K200 X S120(AF)

X K200

(©) 0,210 kg/m? X 100/90 = 0.233 kg/m?

(d) 0.200 kg/m?2 X 29] X 100/90 = 0.444 kg/m?
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@D0.120ke/m® X L6(AF) X 100/ = 0.213kg/m*

@0.120ke/m? X 14(BF) X 100/90 = 0.187kg/m?
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0.233 ()
2toly kg 0.462 (a) 0.444 (d)
24 kg 0.211 (b) 0.400 (&)
XAZH (a) | kg 0.061 0.107
=
HE ka 0.01132 0.0226
hgat kg 0.00044 0.00088
SA kg 0.00040 0.00080
=3 L 0.0139 0.0235
My kwh 0.0295 0.0412






